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PART |

fFor each of the following queslion from 1 1o 30, four oplions are given. One of them is the
correct answer. Make your choice (1, 2, 3 or 4). Shade the correct oval (1.2, 3 or4)on

the Oplical Answer Sheel.
(30 x 2 marks)

1 Phillip placed four lizards into four similar bottles with different condilions. Which
one of the following set-ups will the lizard most likely be afive for the longest period
of ime?
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2 A beaker of ice was left in the open for ten minutes. Which one of the foliowing

statements s true when the ice melts?

(1) Theice loses heat when it mells.

(2} Theice gains heat when it changes to water and steam.

(3) Theice loses heat 1o the surrounding and changes ilé state.

{4) The ice gains heat from the surrounding and changes its state.
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Study the classification chart below.

l Non-tiving things ,
i

iron nail
A piece of rock

Leathe_zr belt
Waooden chair

Which one pair of the following things below can be correéliy classified under
group A and group B respeclively?

Group A~ _%__—_*ﬁﬁ Group B
1) | Steel spoon N Ceramic bowi
(2) Paper A 20-cent coin
3) i Rubber hose - : Cotton wooli
“) Slessewn f T T Sikblowse .

Lucy wrapped the roots of a Balsam plant that has just been removed from the sail
with a plastic bag. Then, she pul back the Balsam plant into the pot of soil. She left
it alone in the open and checked on it two weeks later.

What was observed two weeks later?

The plant started to wither.

A

B The flowers started to bloom.

C  The plant started 1o bear fruits.

D The plant grew tailer than before.
(1) Aonly (2} AandConly
(3) Bonly {4) BandD only
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Study the flowchart below.

Living Yes
things

Able 1o
make their
own food?

Feed on
- decaying
matter?

Yes

Based on the flowchart above, which one of the following is correct?

| X Y Z
1) Human Mushroom Potato
2 Grass Yeast Butterfly
(3) | Stag's hom fern Mould I Toad
4) | Moss s Bacteria |

_.___Bird's nest fern

Which one of the following diagram is the best representation of an ant?

T

“(3)

(@)

(4)




The Howehael shows the characionsiics of five anenals, A&, B, C, Dand £

Bazed on the lowechad above, which one of the lollowing is correct?

L e —— — @
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Lt - Sy e, D e B e
({1) |  Plalypus Ostich- | Guppy Monkey Bat

ﬁ Chicken Parrol Emu | Penguin | Dragonily
(3| Spamow |  Bal - Shark | Emu Crow
{4} Ant Peacock Lion Platypus Bullerlly
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Jagon magnelised an iron nail by using the stroking melhod as showa in tha
diagram below, He then brought the nail near lo a compass.,

/‘““‘\
\“ﬁ._
S === -

Which one of the fallowing comreclly shows what happens when the imagnelised
nail is brough! near 10 3 compass?
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Ra recorded the number of papér clips allracted to the dilferent paris of 5 bar
miagnet and plolted 3 graph as shown below,

Mumler 4

attracted

Which one of the lollowing shows the comrectly labelled bar magnet? -
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Mary wanled o lined ool wheller the amoount of aleciic Comroent aflecks tho strangth
ol an electiromagnel. She sets up her gxpenmenl a5 shanam i the diaogram below,

10 furns of wire

Mary necds anather set-up to conduct a lair teslL Which ane of Ihe following should
sha use? |

SEEELAy Ty
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11 The tabie below shows the melting z—md boiling points of 4 unknown substances:
P.Q Rand S.

. Boiling_Po-i:)_tT °C) __
a5 L

Substance Melting ﬁo_lnLC’C“)—

P -9 o
) ) Q =30 1 11 T
= R h__*_“_lg___*_‘ﬁ . I ) .
g e

Based on the table above, what is the stale of the substances at room
temperalure?

P ] Q
Liquid Liquid
Gas . Solid
ﬁ Soiid | Gas
Liquid Liquid

12 The diagram below shows some ice cubes_in a sealed plaslic container.

{ig

AT Plashe

Conlamer

Fra

Which one of the following describes the temperatures of the ice and the air in the
plastic container when the iCe cubes melts.

.. | _Temperature of ice in the container| Temperature of air in the confainer
M Decrease Increase
{2) Increase Decrease
(3) Remains unchanged - . Increase
{4) Remains unchanged " Decrease J
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A syringe is filled with an equal volume of air and waler. The nozzle of the synnge

1s covered lightly as shown below.

Which one of the following is true when the plunger is pushed in?

Volume of Air

Volume of Water

{1) [ Decreases

Decreases

(2) | Decreases

Remains the same

(3) | Remains the same

Remains the same

{4} | Remains lhe same

Decreases

The table below shows the masses and volumes of solids A, B and C.

Solid A B C
Mass (g} 50 50 100
Volume (cm?®) 20 20 10

Based on the table, which one of the following stalements is true?

(1) 100 g of A has the same volume as 100 g of B.

{2) 100 g of A has the same volume as 100 g of C.

(3) 100 g of B has a smaller volume than 100 g of A.

(4) 100 g of B has a smaller volume than 100 gofC._




15 Study the information about object P below carefully.

+ ltiloats on water.
= |l cannol he compressed.

+ MWhas mass and GCcupies space.

= Uts shape changes according to the containers it is placed in,

- What do you think object P is most likely lo be?

A-  Styrofoam B Oxygen

C Co-oking oil D Wooden block
(1) Conly {2) AandDonly
{3} Band C only (4 A, B,CandD

16 Jeremy placed 4 droﬁs of wax (A, B, C, D)onto 5 identical metal rods as shown in
the diagram below. -

D@
In which order did the drops of wax melt when Jeremy heated the structure at X?

(1) A,D.CB (2) A D,BC’

(38} D,A,B,C (4) D,C.B.A

10



17 Ahole is made at the side of a plastic cup. The cup is inverted and pushed
vertically into a basin of water as shown in the diagram below.

_—-basin of water

Which one of the following most likely shows the cormrect waler level in the cup?

(|

(2)

(3) {4)

S e

18 Andrew moulded four different shapes using 5 g plasticine for each shape. After
that, he lowered one of the shaped plaslicine into a measuring cylinder with 50 ml
of water and observed the rise in water level in the measuring cylinder. He
repeated the procedures with the other three pieces of piasticine.

What was Andrew's aim in this activity?
(1) To find out whether the shape of plasticine would affect its mass.
(2) To find out whether the shape of plasticine would affect its volume.

(3) To find out whether the volume of waler would affect the mass of plasticine.

(4} To find out whether the volume of water would affect the shape of plasficine.

11

o

o




19 Study the diagram below.

\ Wl

aining 4 mirrors placed at different angles.
elped Bob to see the bulterfly?

Bushes

Bob looked through the tube cont
Which miror(s), (A, B, C or D), h

(1) Aonly (2) Bonly

(3)- Cand D onty

(4) AandD only

20 The diagram shows a human skeleton.

The letters Vv, W. X, Yand Zre

present the different types of joints. Which of the
joints aflow 360° rotation? :

(1) VandYonly {2) XandZonly

(3) Wandz only (4) V.Wandy only

12



21
volume of Y.

The set-up below is used during a Science

—— measuring
cylinder

D

activily lo invesligate the mass and

The table below shows some measurements taken during the activity.

From the information
and volume of Y?

Volume of water
and Y {cm’)

70

Wass of measuring| Mass of measuring] Volume of water in
cyiinder and water cylinder (g) measuring cylinder
L@ e (em?)
300 250 50
—_ ] S

_—

given above, which one of the lollowing is the correcl mass

[ Mass of Y (g) T T Volume of Y (cm)
(1) B0 20
------ (2) Not possible 1o teli 20
3) 20 | 50
(4 50 T o 70

13
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Timothy conducled an expernment on lervperalure chan

lap water al rgam temper
he allowed it (o coo! to room lem

dLit boils } Afler the water has
peraturebelore placing it int

ge.-He

g

|

heated a kettio.of

boiled for some time,
o lhereezer ta
ng graphs—besrshow&{h&c—ef'fee{-dm‘nge

freeze. Which onsofthefollowing graph:

14

temperature?
[() () o]
Tenperanae { 'Cy Tergrevance [ C)
‘.5 faruie {rmeny
(3) {4)
Teenperature (T C) Forperanue | )
I~ ’F

0

Tazet hmiy




23 The diagram shows the bone and musc

cles struclure of an arm.

Which one of the following s

hows the correct condition of the
bend our arm upwards as st

muscles when we
1own above?

—_— -
B ___Muscles C ) i Musciles D
1) Relax Contract
T eax. e Onlradd
ﬂ Coniract - - Remain unchanged
(3 Contract - Relax
. Relax —
{4) . Relax

Remain unchanged
—_— =1 Hchanged

24 Onadark night, Ethan walked from A 1o D under a lighted street lamp.

A 8 C D

Which one of the followi

ng shows the comrect order 0
shadows from the longe

st to the shortest?

(1) D,A,BandC

(3) B,C.DandA

15




25  While keeping the distance between the wind chime and the lorchlight the same:
Daniel shone his torchlight at the wind chime from different angles as shown in the
diagram below.

Ceiling

Wind chime

Angle of 4 00( -
Light Source -

- -
—
— )

He measured the length of each shadow formed. The table below shows his

results.
i Angle ofmlight sourcgaﬁeaee) i —-T_ength of"s_l;g(%;'fza7~h
40 T , 30 ~
R 25 ——
60 ) - 20 ] ~
70 o 1 L 15 e
.80 10

From his resuits, what can you conclude about the relationship between the angle
of light source and the length of the shadow formed?

LIRS

(1) The length of the shadow increases when the angle of light source increases.

(2} Thelength of the shadow decreases when the angtle of light remains
unchanged. '

(3) Thelength of the shadow decreases when the angle of light source
increases.

(4) The length of the shadow remains unchanged when fﬁe angle of light source
increases.

16
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27

Study the lile cycles ol a mosquito and cockioach below.

I O e (= —-""‘-.‘

g \#in"‘"'"'
( ¢ /

awfull coclyoarts

o, T ———— i — = e E—————— e E—— —— . ——r .}

Based an the lile cycles shown above, il can be inflemed thal _

———

A Dolh ammals lay eqgs on L

B  both animals reproduce by laying eggs.

C  the young of both animals look like the adull.
[1) A only {(2) B only

13) B8 and Conly (4) A, Band Conly

The following diagram shows o green leal of a plant undergoing photosynlhesis.

Hunbylad
—
-
l..:_,.;-r"".’

-
W4

] \,

Which one of the following correctly represents A, B, C and D respeclively?

| A - B c . D
(1) Water Sugar Oxygen Carbon dioxide” |
2 1 Waler  Sugar Carbon dioxide Oxygen

3) Oxygen Sugar Carbon dioxide Waler

(4) Waler | Carbondioxide |  Sugar ' Oxygen |
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Study the flowchart below carefully.

Has pupa
stage inits
life cycle?

Has nymph
stage in ils
lite cycle?

Which letter would best represent a dragonfly?

n A (2)

) C (4)

18

B

D

Gives birth

10 young
alive?
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To ensure there is some level of privacy for Mr Chen and his family while they are
using the living room, Mr Chen conslructs a panel as shown in the lay out plan
below. As he wanis 1o tonserve energy, he ensures that the area near the main
door receives sufficient light from the Iving room. In addilion, he wanis 1o be able
to lean against the panel when he sits on the bench while pulting on his shoes.

s LAYOUT PLAN

Windows —]

Shoe Cabinet

Main door Bench

(opent — Panel

LN g

Living Room

J | v conscle—]’—\] _]

Based on the information given abdvej which of the foliowing properties should
the panel be made of? -

Properties of material used to make the panel
Strong Fragile Soft Opaque | Transparent Transiucent
v v :
B S R v - =
- = . _
S RN P S D A

19




30 Study the classification chan of different materials below.

Malerial

f

. [ Flexible?

_ f‘ Hexihle?
h Yes e : No YEE*K No
1o el 7]

Which material is suitable 1o be used {o make a tent?
( A : (2) B

(3) C (4 D

20
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For questions 31 1o 46, write your answers in this booklet.

The number of marks available is shown in brackels |

| al the end of each question or
part question.

- (40 marks)
e

31 Observe the dia

drawn to scale)

gram of‘fﬁ_é two animals below carefully. (Both animals are not

Animal P Animal Q -
Based on your observatiop only, write down two ways in which they are different. 2]
M __
(if)
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Lity wanted to find oul how if heat gain affects gases. She sel up the experiment as
shown below. ’

—lelt rnight—>

glass lube. ——
. —
mk drop (Indicator)
M
reforl *
- stand 777
Z

{a) What will happen to the ink drop in the glass tube after the flask has been oI
heated for 5 minutes?

{b) Explain your answer in (a)? 1]

d
1

-

(¢) How would the result be different if she repeated the experiment using ? | [1]
Bunsen burners?
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Jane set up an experiment as shown in the diagram below (o investigate the
flexibility of 2 different plastic strips, X and Y. She clamped one end of plastic strip

bending angle for each weight used. She recorded the resulls in the table below
and repeated the experiment with plastic stnp Y

clamp

plastic strip X

table\

lray )
The result is shown in the table below. -

Weight (qg) Degree of bending () L .

o . Plastic Strip X __r Plastic Strip Y ]

| R D 5

BT R I R I

A R T B e

‘& 20 J___"____.;?Z_-__ﬁ____l — i
{a) Based on the results above, what is the conclusion that can be made from the 1

i experiment? .




34 Five pupils were each 1old 1o hold onto a spoon while hot water was poured into
the pot as shown below. The 5poons were similar in size but made from different
matenals. The pupils were lold o let go of the spoon the moment they couid not
withstand the heat fell on the SPOOI.

Hand

Spaoon

Pol

Hot Water

The table below shows lhe time each pupil held onlo his spoon before the spoon

was let go.
- | Material of spoon Time (seconds)
Steeld 35
Copper 10
Plastic 120
Wooden 120
Aluminum 50
S B 1
(a) Where did the Spoons gain most the heat from? M
(b) From the above experiment, which material is the best conduclor of heat? [1]

{c) Besides wood and piastic, name one other material which will be suitable as  [1}
qood insulator for making kitchen utensils. '




35 The diagram below shows two be

akers, X and Y. Beaker X conlain
beach soil while beaker Y contain

$ some sandy
$ some water.

50 cm’ of 50em’®—f—
sandy

of water T T
beach soil / —— e
B / - —— =
Beaker X

Beaker v

The water in beaker Y is then
complete the following diagrar

poured into beaker X Using ruler and pencii, [2}-'
after water is poured into bea

N o show the volume of total contents in the beaker
ker X. Please label your diagram.

100 cm ) ﬁr

50 cm’® 4

—
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Two sunilar metal conlainers, A

air has been pumped into e

and B, can conlain 10 litres of air each. 8 litres of
ach container. Both conlainers are placed on a

balance as shown in the diagram befow.

(a) State one observalion you would make when another

inlo metal container B.

4 Itres of air is pumped {1}

(b) Whatis the volume of air in metal container B now?

{11
(c) . Stale two properties of air that are shown in the experiment. [2]
(i) )
(ii)
4
6




37 Tommy has two similar heart-shaped balloons. He pumped 1 filee of air into
Balleon P and 3 Wres of air inla balloon O as shown below.

i
fFallaan i
!
(a) From his obserdation, he concluded thal air has a definite shape. Do yiou {1}
agrea walh his conclusion?
(b} Explain your answer in {a). (1




38 Chrislopher poured oil into two similar beakers. P and Q, as shown in the diagram
below. He noticed oil flowed {aster into one of the beakers than the other.

glass yube

Iunnel funnel =
p R
—-— air-tight seal ~——-——4
beaker P — _—beaker Q
——h X ;
(a) Inwhich beaker will oil flow in faster? [74].
(b) Give a reason why one beaker filled up faster lhan the other. ' [14]

(¢} Christopher wanted to add some condensed milk into a cup of coffee he was [1]
‘drinking. He pierced a hole on the top of the can as shown in the diagram '
below. The condensed milk was flowing very slowly from its container. What
can he do to increase the fliow of condensed milk out of its container?
(Do not suggest removing the top cover of the can completely)

G
Condensed milk
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Study the diagrams below carefully.

_

Based on the diagrams above, drrange objects, W, X, Y and Z from the heaviest  [2)
to the lightest.

T

Heaviest

— Lj@htesi
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The two objects 1 and 2. made ol different materi

new slructure as shown below.

Otyea
(T(ansparent)

Object 2
{Opaque)

{New sliucture)}

Light is shone onto the new structure from 2 different angles.

Based on the information above, draw

Angile 1

Ang]e 1 (Shadow formed)

-
-

the 2 shadows in the space provided.

als are placed together lo form a

Angle 2 (Shadow formed})

10

[2]
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The figure below shows our digestive system.

(a)

At which pari{s}) (A, B, C, D)is Jare digestive juices secreted?

(b} Whatis the function of part D in the digestive system?

11

[1]

(1]




42 Study the classification chart below.

’ Matier l

l

Has definite
shape

—

Has no
definite shape
= j '
I(i} J l TransparentJ f (i) « Transparent

r———)

I(iii) lr G!asi_cup I @) L l Wzi{er

(a) Complete the classification chart above.

(b) Based on the information in the classification chart above, state one
difference belween the property of the glass cup and the wailer.

12

[2]
{1




43 The {ollowing sel-up shows an object placed between a lighied torch
A shadow was cas

and a screen.
t onto the screen ag shown.

R

—— e H._,_*__,__A—_____.__._.__._“_R, ———

The lable below shows a re

between objeci X and the
lorch has been changed a

at was formed.

nd the height of shadow th

_l:l;eight of shadow {cm) .

(a) State two ways of how you can eniarge the shadow of object X,

{b) State the likely aim of the experiment conducted above.

13 - 2



44 Peler wants to find out il the thickness of paper affects the amount of ight passing
through il. He placed a piece of paper between the lighted torch and a sensor unit
which is connected to the laptop. He measured the amount of hight that was able 1o
pass through the paper and recorded the resull in the table below.

Laptop

. / Paper

' ~
- il
IS

™~

10 cm

> Sensor unit

Gradually, he increased the number of sheets of paper used. The table below
shows the results after his experiment.

[T\lumber of sheets of paper uéed 1 2 3 4 |5 4] -
20

{ Amount of light (Lux) 100180 {X |40
(a} What does X represenl as shown in the table above? (1]
{(b) What can you conclude from the resull of the experimeni? 1]
(c) State one variable he must keep constant to ensure a fair tesl. [1]

14




45 Ellya placed a stalk -of cel

ery nto a beaker of coloured
oil as shown in the set up

below.

;’!\f: ,'_‘;y\ceiery =7
o

walter and addeyd 3 layer of

layer of oil

—— lap waler with dark biye
food colouring

\ i y lhe water level has decreased. | 1]

]

15



46 Timothy placed 3 different types of seeds into 3 different styrofoam cups of the
same size, each conlaining some soil. Timothy left the cups in a dark corner of the
classroom and watered them equally everyday lo keep it damp at all times.

The table below shows the resulls for the growth of the seeds.

Seeds — Height (mm) "™
) Day 1 Day 2 Day 3 Day 4 Day5 | Dayé
Tomato 0 -0 4 6 11 13
Chilli 0 0 5 8 12 15
Green 0 8 16 25 30 38
Bean
(a} Based on the table above, which one of the seeds grows ihe fastest? {1]

(b} Name 3 conditions that are needed for the seeds to germinate into seedlings. [1]

(c) State the aim of the experiment. {1}

16
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36)a)A will move up whlle B wull move down.
byloL L
c)i)Alr has 'mass.

b)If Tommy pump éi;intd’é— round shaped balloon, the shape

w:ll be round

38)a)Beaker Q

b)It absorbs: water from undlgest d.faot

42)a)i)Opaque Opaque . u)Eraser lli)Oraﬁfe Juice
b)Glass has a d _'f mte vhape but water has no definite shape.

43)a)Move the screen further from the object.
b)To find out if the dstance between object X and the torch will
affect the height of the shadow.

44)a)60 Lux.
b)The number of sheets of paper used will affect the amount of
-light passing through the paper.
c)He must use the same torch through out his experiment.

Page 2




45)a)The water has been absorbed be the plants.
b)To prevent evaporation.

46)a)Green bean.
b)Water, air, warmth.
c)To observe the different plants grow at different rate.
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